PEMRETE T -4

(BEA:mm)
2K(L) 6,710
Wwg Y
2MB(W)  #F 35-% 2,220 T
S (H) 3000 | |
M-I -2 (WB) 3,440
=%
SUNEIERE =2 S()) 5.9m
77 1,775
by b (Tr)
% 1,710
B 1,135
7 +4-n"-nv4" (ROH)
% 2,135

XEE - 2EEZHEGTREAD T > B(PKG-FRRIOSI) % A L 7=,

- L _
ROH | , wB
R -
—
’____\_ :
JEEE
\ | DEPcH
P
I \v

X2mlE, ZZEH(TKG-FEASD) 2 IRA A £ TOE & (1,000)+1EA ZHBE(2,000)] %

KWB -+ R« Tr - ROHIZ,

FUVEH LT,

HH Y DEE1,800)

WISEOEBEHTELS AW &N b, FBU=ZFEQKG-FK72FY) %A L 7=,
MROH(#)1Z 2E (L) - #-wn -2E(WB) - ROH(ET)



